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Introduction

This report is in two sections. The first section reviews your request for advice on what compensation would be appropriate to negotiate with the tutors for varying their contracts; the second section considers your future options for the disposal of Desperanto
.

Section 1

Appropriate compensation for tutors

Introduction

The compensation question is a complex question to answer; I am only in receipt of the data provided and cannot make comment upon the HR implications of my recommendations. I have made a number of assumptions upon which I have based my recommendation, all of which are captured within the report. As you are not fully conversant with the complexity of financial decisions, I have set out the methodology for arriving at my recommendation, so that you can fully consider my proposal.(
Capital Asset Pricing Model (CAPM)

This model relates the expected return on a security to the expected return on the market as a whole and to its risk. The CAPM allows a company’s equity cost of capital to be estimated and provides performance benchmarks for equity investors (B821, glossary).

We can assume that Desperanto’s risk-free rate is 5% and that the equity market premium is also at the rate of 5%. What we do not know is what the beta (the risk of a share relative to the market as a whole) for Desperanto. Because Desperanto is not a listed company we can calculate the beta in three ways, as follows:

1. Take the mean of companies in comparable businesses:

· Sunshine @ 0.93

· Storm @ 1.12, and

· Shower @ 0.97

Gives a mean of 1.01(
Therefore 
E(R)
= 5 + (1.01 x 5)




= 10.05

2. Take the weighted mean of the three companies:

· Sunshine @ 4.03 x 0.93,

· Storm @ 1.14 x 1.12, and,

· Shower @ 5.9 x 0.97

Gives an industry mean of 0.97
(
Therefore
E(R) 
= 5 + (0.97 x 5)




= 9.85

3. We can calculate the weighted average of Desperanto’s equity beta and debt beta
.

If we assume that Desperanto’s gearing is not too high and that debt and interest are paid without default, we can assume a debt beta equal to zero and can calculate the beta equity as:

D/(D+E) – E/(D+E) = 0.56

Therefore 1 = 0.56 x Ebeta

Or

Ebeta = 1 / 0.56 = 1.79

Therefore  
E(R) 
= 5 + (1.79 x 5)




= 13.95%

(This calculation appears overstated. The industry average is 0.97 and a comparable company (Storm) with a similar debt equity profile is 1.12 and I would assume that Desperanto’s beta would be close to Storms i.e. 5 + (1.12 x 5) = 10.6%).

Given that calculation 3 is overstated, we will assume a capital return of 11
%.

Weighted Average Cost of Capital (WACC)

The weighted average of the cost if debt (after corporation tax) and the cost of equity for an organisation, where the weights are the market proportions of debt and equity in the organisation’s capital structure (B821, glossary).

Cost of Debt

2000
Debt level
2001

Average
£238k

  
£432k

£335k

Interest paid



£29k

Therefore cost of debt 

8.66
%

Cost of Equity

	
	1997
	1998
	1999
	2000
	2001

	Equity
	1648
	1744
	1663
	1743
	1564

	Dividends
	100
	105
	110
	115
	120

	Cost
	6.07%
	6.02%
	6.61%
	6.60%
	7.67%


The cost of equity continues to rise
. The dividend policy appears to be an increase of £0.0025p per share, each year, without regard to the performance of the company. For the calculation we will assume the 2001 figure of 7.67
%.

Therefore WACC equals:

RO

= debt / (debt + equity) x Rd (1-T) + equity / (debt + equity) x Re



= 432 / (432 + 1564) x 8.66(1-0.3) + 1564 / (432 + 1564) x 7.67



= 432 / 1996 x 8.66(0.7) + 1564 / 1996 x 7.67



= (0.22 x 6.06) + (0.78 x 7.67)



= 1.33 + 5.98

WACC
= 7.31%

Points to note
:

The market capitalisation of Desperanto is unknown as the company is privately owned. The calculation has therefore assumed that the market capitalisation is equal to the current value of equity.(
Conclusion

The above calculations, although complex and some what bewildering
, informs us that we 
should expect to earn 11% on any investments in Desperanto and that Desperanto’s average cost of capital is 7.31
%.

Compensation Level

We can use the above to calculate what would be an appropriate compensation level for the tutors following a revised remuneration package.

Attached at Appendix 1 are various calculations of the Net Present Value (the discounted present value of future cash flows) based around your expectation to grow the business of 5% in real terms over the forthcoming years.(
I have discounted the present values by the expected return of 11%. Although most investors would be happy to use the WACC, I have taken the more conservative figure for the calculation
.

The first model (A) will see an overall increase in sales of 27% whilst in the later model (D) you have an increase of 12%. As you can see, if your assumptions about future prospects are correct the value of the tutor’s salary is £7144k. If we also look at the model which depicts an uneven future the value future salaries is £6854k a difference of £290k
.(
This therefore suggests that the maximum amount which should be made available for compensation is £290k which should be split proportionately between the tutors.

However, I have also provided a net present value of the compensation in Appendix 2. I have discounted the actual cash flow by 11% and compared my uneven market growth model with your predicted model.( 

As you can see, I have revised the compensation level to £260k as the calculation suggests that my conservative model is more or less neutral and the other model shows a positive cash flow of £36k at £260k, which indicates that the cash compensation level is maximised at that level. The NPV of £290k is -£20k and £14k respectively.

Assumptions and Issues

The above compensation level is derived from information that you have provided and should be considered with the assumptions and issues 
mentioned above and below.( 

The forecast growth rate has not been verified by market analysis
.(
It is unknown what obligations the tutors have towards growing the business
.(
The compensation level suggested is the maximum level that should be considered. It could be argued that if your growth rate forecasts are correct, the actual level should be nil
. Appendix 2 (A) demonstrates that the salary increase forecasts rise year on year and therefore compensation is not warranted.

If the above is growth is realistic and tutors agree so, then an alternative would be to offer to reduce the protected element year on year down to zero at a rate to be agreed with the tutors with the compensation level equal to zero(.

I have assumed that the tutors will accept any compensation as a lump sum. This could be incorrect depending upon personal circumstances; tutors may wish a phased amount over a period of time.(
You also should consider whether now is the right time to revise the tutors’ contracts. If your forecasts are correct then no compensation will be required. If you were to delay the revision to the tutors’ contracts for a year or two you will have more data on how the market has performed post 11 September and would be better informed on a compensation level.(
Conclusion

The maximum compensation level available today is £260k. If, however, the tutors are convinced by your predictions for future growth this amount can be minimised quite considerably.  

Waiting a year or two before deciding to revise the tutors’ contracts, to assess any further impacts from 11 September should also be considered.

Question one mark 18/50

Section 2 

Potential disposal of Desperanto

Introduction

In order to fully appreciate the offer that has been made by Sunshine, it is important to evaluate the market worth of Desperanto. This is not an exact science, as it can be argued that something is only worth what somebody is willing to pay! However, this report will use two techniques to try to establish the financial worth of Desperanto, namely:

· Discounted cash flow, and,

· Dividend valuation model(
Valuation of Desperanto

Discounted Cash Flow

The offer that Sunshine has tabled is slightly below the current book value of Desperanto. 

Sunshine is offering 100 of its shares for every 265 currently held in Desperanto. At Sunshine’s current share price this calculates to be:

· 2m Desperanto shares / 265 x 100 Sunshine shares = 754717 Sunshine shares 

      @ £2.07 = £1562k. The current book value of Desperanto is £1564K.(
The discounted cash flow 
(Appendix 3) values the company between £1963k and 1975k
. Taking the book value and adding in the expected profits until what would have been generated up until your retirement date. The other measure you could use is to take the discounted equity value and add in your discounted earnings up until your retirement date. This calculation values the company between £1634k and £1546k
.
Table A assumes that you will continue increasing dividends by £0.0025p per share per year. Table B assumes that you only draw the market value of your equity dividend.  Both tables assume that retained earnings impact upon the debt of the company
, leaving equity unchanged. This naturally affects the amount of tax that is paid on the debt. 

It is further assumed that the all assets are on the balance sheet at current value and that if a new management team is required, they will be compensated at the same level as the current owners.

Not having a copy of the full balance sheet does limit the viability of the estimated value of £1975k; however, given the limited amount of information received I believe that Sunshine’s offer is undervalued
.

Dividend Valuation Model

Using the dividend valuation model, we can estimate the expected rate of return of shareholder’s equity and apply that to the current book value of Desperanto up until retirement and discount that value to have an estimate of the worth of Desperanto.

We can use the Gordon Growth Model to estimate the return, as:


Pi = D1 / (E(Ri)-g)(
Where

Pi = current price of share i (although we will be substituting with book value)        

D1 = dividend expected in year 1 on share i

E(Ri) = the expected return on share i given its risk

g = expected constant annual growth rate of share i’s dividends 

Thus by multiplying out the equation, we obtain:


E(Ri) = (Di/Pi) x g


E(Ri) = ((0.0625 
/ 0.5
) x 0.04 
x 100))


E (Ri) = 13%

We can therefore apply our 13% to our equity and discount (at 11% in year 5) the end value to obtain our current value, thus:


£1564k x 13%(5) x 0.593


= £2881k x 0.593


= £1708k

Which again gives a value greater than that currently offered by Sunshine.

Conclusion

The various methods used have given an estimated value ranging between £1708k and £1975k (excluding any goodwill) and this is the target range that I recommend you should advise Sunshine that you would be willing to relinquish ownership for, excluding a separate amount to be negotiated for ‘goodwill’
.

Alternative considerations for the sale of Desperanto

Introduction

If you can agree the sale of Desperanto, the question of whether to accept shares or insist on cash is quite complex. Your personal acceptance of risk is quite vital in this regard;( I will set out the alternatives as I see them for your consideration.

Portfolio Theory

Portfolio theory suggests that it is better to combine different shares into a portfolio of shares to optimise returns. This is still not a risk-free strategy because although you may diversify away the affects of individual shares performing badly, you can not diversify away the market performance of all shares.(
The theory therefore suggests that accepting all shares is not an optimal decision. However, we must also look at the performance of Sunshine’s shares and decide whether the risk / return ratio is acceptable to you.(
Sunshine currently has 173 million shares in issue and they are currently trading at 207p. Given their current valuation of Desperanto, they are offering 754,717 shares in exchange for your shares (an equivalent to £1564k).

Sunshine’s shares had been valued between 300p and 400p in the first half of 2001 but have fallen in value due to a profits warning. If you believe that there is synergy between the two companies, you could consider that the share price will gain back its value and offer an immediate return. However, this is a question of how much risk you are willing to expose yourselves to.(
Portfolio theory also suggests that there is an optimum combination of shares to maximise returns and that even naïve diversification is better than having “all eggs in one basket”. I would recommend that you seek investment advice from an independent financial advisor with regard to any future investment decisions to fund your retirement.(
Earnings Data

The earnings data for Sunshine shows healthy rises in profits, EPS and Dividends
. However, Sunshine have just issued a profits warning stating that profits are below expectation for 2001 and have not clarified future profit expectations. It is therefore unclear how they see the future or whether they have an alternative strategy for growth if the acquisition of Desperanto is not concluded
.

Dividend Policy

We do not know what Sunshine’s dividend policy is. We can see from published data that dividends have risen 15% year on year 
but whether they will continue to raise dividends as profits fall is unclear. 

Dividends

If you were to accept Sunshine’s offer of 757717 shares at the current dividend level you would receive an income of c£30k. If you accepted the current amount in cash, £1,564k, do you think that you could invest the money more wisely and generate more than the £30k a year on offer
?

Conclusion

Depending upon how much risk you are willing to accept, you should consider whether accepting the offer of fully trading shares is acceptable. It might be more prudent to consider insisting that an element is paid in cash.( 

Insisting on cash only might have an adverse affect of driving the offer down. It could be viewed that you have little faith in the future of the enterprise and you could therefore reduce the amount available to invest in your retirement.(
Unfortunately, company valuations are a complex issue and people approach valuations from different angles and with different levels of negotiating skills. I hope that the above information will allow you to progress your future strategy.(
As a final point, I would remind you that the above report is based upon the information provided. If you require additional clarity around my conclusions, I will require greater access to both company’s’ sets of data.(
Question 2 mark 23/50

References:

The Open University Business School B821 (2002), The Burlington Press, Foxton, Cambridge.
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2

Growth 0.075 -0.025 0.05 -0.025 0.05 Growth 0.05 0.05 0.05 0.05 0.05

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5 Yr6

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5 Yr 6

5 2001 2002 2003 2004 2005 2006 2007 2001 2002 2003 2004 2005 2006 2007

6

7

Sales

1,760 132 -47 92 -48 94

Sales

1,760 88 92 97 102 107

8

9

Previous yr

1,100

Previous yr

1,100

10

50% current

880 66 -24 46 -24 47

50% current

880 44 46 49 51 53

11

12

Sub-total

1,100 66 -24 46 -24 47

Sub-total

1,100 44 46 49 51 53

13

14

Variable

440 33 -12 23 -12 24

Variable

440 22 23 24 25 27

15

16 Compensation 260 Compensation 260

17

18

Total

1,800 99 -35 69 -36 71

Total

1,800 66 69 73 76 80

19

20 Profit -40 33 -12 23 -12 24 Gross profit -40 22 23 24 25 27

21

22 Tax at 30% -12 10 -4 7 -4 7 Tax at 30% -12 7 7 7 8 8

23

24 Cash flows -40 45 -22 27 -19 27 -7 Cash flows -40 34 17 17 18 19 -8

25

26

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593 0.535

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593 0.535

27

28

Present value

-40 41 -18 19 -13 16 -4

Present value

-40 31 13 13 12 11 -4

29

30 Total 2 Total 36
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A - growth at 5% Growth 1.05 1.05 1.05 1.05 1.05

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

5 2001 2002 2003 2004 2005 2006

6

7

Sales

1760 =C7*D2 =D7*E2 =E7*F2 =F7*G2 =G7*H2

8

9

Previous yr

1100 =C7*0.5 =D7*0.5 =E7*0.5 =F7*0.5 =G7*0.5

10

50% current

=C7*0.5 =D7*0.5 =E7*0.5 =F7*0.5 =G7*0.5 =H7*0.5

11

12

Sub-total

=MAX(C9:C10) =MAX(D9:D10) =MAX(E9:E10) =MAX(F9:F10) =MAX(G9:G10) =MAX(H9:H10)

13

14

Variable

=C7*0.25 =D7*0.25 =E7*0.25 =F7*0.25 =G7*0.25 =H7*0.25

15

16

Total

=C12+C14 =D12+D14 =E12+E14 =F12+F14 =G12+G14 =H12+H14

17

18

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

19

20

Present value

=C16*C18 =D16*D18 =E16*E18 =F16*F18 =G16*G18 =H16*H18

21 =SUM(C20:H20)

22

23

D - unpredictable market Growth 1.075 0.975 1.05 0.975 1.05

24

25

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

26 2001 2002 2003 2004 2005 2006

27

28

Sales

1760 =C28*D23 =D28*E23 =E28*F23 =F28*G23 =G28*H23

29

30

Previous yr

1100 =C28*0.5 =D28*0.5 =E28*0.5 =F28*0.5 =G28*0.5

31

50% current

=C28*0.5 =D28*0.5 =E28*0.5 =F28*0.5 =G28*0.5 =H28*0.5

32

33

Sub-total

=MAX(C30:C31) =MAX(D30:D31) =MAX(E30:E31) =MAX(F30:F31) =MAX(G30:G31) =MAX(H30:H31)

34

35

Variable

=C28*0.25 =D28*0.25 =E28*0.25 =F28*0.25 =G28*0.25 =H28*0.25

36

37

Total

=C33+C35 =D33+D35 =E33+E35 =F33+F35 =G33+G35 =H33+H35

38

39

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

40

41

Present value

=C37*C39 =D37*D39 =E37*E39 =F37*F39 =G37*G39 =H37*H39

42 =SUM(C41:H41)


	A1
	B
	C
	D
	E
	F
	G
	H
	I

	2
	 
	Table A
	Growth
	1.05
	1.05
	1.05
	1.05
	1.05

	3
	 
	All values in £000's
	 
	 
	 
	 
	 
	 

	4
	Cash Flow
	Yr 0
	Yr 1
	Yr 2
	Yr 3
	Yr 4
	Yr 5

	5
	 
	 
	2001
	2002
	2003
	2004
	2005
	2006

	6
	 
	 
	 
	 
	 
	 
	 
	 

	7
	Sales
	1,760
	1,848
	1,940
	2,037
	2,139
	2,246

	8
	 
	 
	 
	 
	 
	 
	 
	 

	9
	Previous yr
	1,100
	880
	924
	970
	1,019
	1,070

	10
	50% current
	880
	924
	970
	1,019
	1,070
	1,123

	11
	 
	 
	 
	 
	 
	 
	 
	 

	12
	Sub-total
	1,100
	924
	970
	1,019
	1,070
	1,123

	13
	 
	 
	 
	 
	 
	 
	 
	 

	14
	Variable
	440
	462
	485
	509
	535
	562

	15
	 
	 
	 
	 
	 
	 
	 
	 

	16
	Total
	1,540
	1,386
	1,455
	1,528
	1,604
	1,685

	17
	 
	 
	 
	 
	 
	 
	 
	 

	18
	Gross profit
	220
	462
	485
	509
	535
	562

	19
	 
	 
	 
	 
	 
	 
	 
	 

	20
	Expenses
	 
	 
	 
	 
	 
	 

	21
	 
	Admin salaries
	60
	63
	66
	69
	73
	77

	22
	 
	Directors salaries
	50
	53
	55
	58
	61
	64

	23
	 
	Expenses
	165
	173
	182
	191
	201
	211

	24
	 
	Interest
	30
	32
	34
	36
	38
	39

	25
	 
	 
	 
	 
	 
	 
	 
	 

	26
	Total expenses
	305
	321
	337
	354
	372
	390

	27
	 
	 
	 
	 
	 
	 
	 
	 

	28
	Profit before tax
	-85
	141
	148
	155
	163
	171

	29
	 
	 
	 
	 
	 
	 
	 
	 

	30
	Taxation
	-26
	42
	44
	47
	49
	51

	31
	 
	 
	 
	 
	 
	 
	 
	 

	32
	Profits after tax
	-60
	99
	104
	109
	114
	120

	33
	 
	 
	 
	 
	 
	 
	 
	 

	34
	 
	Discount @ 11%
	1
	0.901
	0.812
	0.731
	0.659
	0.593

	35
	 
	 
	 
	 
	 
	 
	 
	 

	36
	Current value of future profits
	-60
	89
	84
	79
	75
	71

	37
	 
	€399 
	 
	 
	 
	 
	 
	 

	38
	 
	 
	 
	 
	 
	 
	 
	 

	39
	Dividends
	120
	125
	130
	135
	140
	145

	40
	 
	 
	 
	 
	 
	 
	 
	 

	41
	Retained earnings
	-180
	-26
	-26
	-26
	-26
	-25

	42
	 
	 
	 
	 
	 
	 
	 
	 

	43
	 
	 
	 
	 
	 
	 
	 
	 

	44
	Balance sheet extract
	 
	 
	 
	 
	 
	 

	45
	 
	 
	 
	 
	 
	 
	 
	 

	46
	Debt
	432
	458
	485
	511
	537
	562

	47
	 
	 
	 
	 
	 
	 
	 
	 

	48
	Share capital
	1,000
	1,000
	1,000
	1,000
	1,000
	1,000

	49
	Reserves
	564
	564
	564
	564
	564
	564

	50
	Total equity
	1,564
	1,564
	1,564
	1,564
	1,564
	1,564

	51
	 
	 
	 
	 
	 
	 
	 
	 

	52
	 
	Discount @ 11%
	1
	0.901
	0.812
	0.731
	0.659
	0.593

	53
	 
	 
	 
	 
	 
	 
	 
	 

	54
	 
	Present Value of equity
	1,564
	1,409
	1,270
	1,143
	1,031
	927

	55
	 
	 
	 
	 
	 
	 
	 
	 

	56
	 
	Debt / equity ratio
	28%
	29%
	31%
	33%
	34%
	36%

	57
	 
	 
	 
	 
	 
	 
	 
	 

	58
	 
	 
	 
	 
	 
	 
	 
	 

	59
	 
	Earnings
	 
	178
	185
	193
	201
	209

	60
	 
	 
	 
	 
	 
	 
	 
	 

	61
	 
	Discount @ 11%
	 
	0.901
	0.812
	0.731
	0.659
	0.593

	62
	 
	 
	 
	 
	 
	 
	 
	 

	63
	 
	Current value
	 
	160
	150
	141
	132
	124

	64
	 
	 
	 
	 
	 
	 
	 
	 

	65
	 
	Therefore company value is:
	 
	 
	 
	 
	 
	 

	66
	 
	 
	 
	 
	 
	 
	 
	 

	67
	 
	Profit valuation
	1,963
	 
	 
	 
	 
	 

	68
	 
	Earnings valuation
	1,635
	 
	 
	 
	 
	 


	K
	L
	M
	N
	O
	P
	Q
	R
	S

	2
	 
	Table B
	Growth
	1.05
	1.05
	1.05
	1.05
	1.05

	3
	 
	All values in £000's
	 
	 
	 
	 
	 
	 

	4
	Cash Flow
	Yr 0
	Yr 1
	Yr 2
	Yr 3
	Yr 4
	Yr 5

	5
	 
	 
	2001
	2002
	2003
	2004
	2005
	2006

	6
	 
	 
	 
	 
	 
	 
	 
	 

	7
	Sales
	1,760
	1,848
	1,940
	2,037
	2,139
	2,246

	8
	 
	 
	 
	 
	 
	 
	 
	 

	9
	Previous yr
	1,100
	880
	924
	970
	1,019
	1,070

	10
	50% current
	880
	924
	970
	1,019
	1,070
	1,123

	11
	 
	 
	 
	 
	 
	 
	 
	 

	12
	Sub-total
	1,100
	924
	970
	1,019
	1,070
	1,123

	13
	 
	 
	 
	 
	 
	 
	 
	 

	14
	Variable
	440
	462
	485
	509
	535
	562

	15
	 
	 
	 
	 
	 
	 
	 
	 

	16
	Total
	1,540
	1,386
	1,455
	1,528
	1,604
	1,685

	17
	 
	 
	 
	 
	 
	 
	 
	 

	18
	Gross profit
	220
	462
	485
	509
	535
	562

	19
	 
	 
	 
	 
	 
	 
	 
	 

	20
	Expenses
	 
	 
	 
	 
	 
	 

	21
	 
	Admin salaries
	60
	63
	66
	69
	73
	77

	22
	 
	Directors salaries
	50
	53
	55
	58
	61
	64

	23
	 
	Expenses
	165
	173
	182
	191
	201
	211

	24
	 
	Interest
	30
	31
	31
	31
	31
	29

	25
	 
	 
	 
	 
	 
	 
	 
	 

	26
	Total expenses
	305
	320
	334
	350
	365
	380

	27
	 
	 
	 
	 
	 
	 
	 
	 

	28
	Profit before tax
	-85
	142
	151
	160
	170
	181

	29
	 
	 
	 
	 
	 
	 
	 
	 

	30
	Taxation
	-26
	43
	45
	48
	51
	54

	31
	 
	 
	 
	 
	 
	 
	 
	 

	32
	Profits after tax
	-60
	100
	105
	112
	119
	127

	33
	 
	 
	 
	 
	 
	 
	 
	 

	34
	 
	Discount @ 11%
	1
	0.901
	0.812
	0.731
	0.659
	0.593

	35
	 
	 
	 
	 
	 
	 
	 
	 

	36
	Current value of future profits
	-60
	90
	86
	82
	78
	75

	37
	 
	€411 
	 
	 
	 
	 
	 
	 

	38
	 
	 
	 
	 
	 
	 
	 
	 

	39
	Dividends at 14%
	120
	110
	110
	110
	110
	110

	40
	 
	 
	 
	 
	 
	 
	 
	 

	41
	Retained earnings
	-180
	-10
	-5
	2
	9
	17

	42
	 
	 
	 
	 
	 
	 
	 
	 

	43
	 
	 
	 
	 
	 
	 
	 
	 

	44
	Balance sheet extract
	 
	 
	 
	 
	 
	 

	45
	 
	 
	 
	 
	 
	 
	 
	 

	46
	Debt
	432
	442
	447
	445
	436
	419

	47
	 
	 
	 
	 
	 
	 
	 
	 

	48
	Share capital
	1,000
	1,000
	1,000
	1,000
	1,000
	1,000

	49
	Reserves
	564
	564
	564
	564
	564
	564

	50
	Total equity
	1,564
	1,564
	1,564
	1,564
	1,564
	1,564

	51
	 
	 
	 
	 
	 
	 
	 
	 

	52
	 
	Discount @ 11%
	1
	0.901
	0.812
	0.731
	0.659
	0.593

	53
	 
	 
	 
	 
	 
	 
	 
	 

	54
	 
	Present Value of equity
	1,564
	1,409
	1,270
	1,143
	1,031
	927

	55
	 
	 
	 
	 
	 
	 
	 
	 

	56
	 
	Debt / equity ratio
	28%
	28%
	29%
	28%
	28%
	27%

	57
	 
	 
	 
	 
	 
	 
	 
	 

	58
	 
	 
	 
	 
	 
	 
	 
	 

	59
	 
	Earnings
	 
	163
	165
	168
	171
	174

	60
	 
	 
	 
	 
	 
	 
	 
	 

	61
	 
	Discount @ 11%
	 
	0.901
	0.812
	0.731
	0.659
	0.593

	62
	 
	 
	 
	 
	 
	 
	 
	 

	63
	 
	Current value
	 
	146
	134
	123
	113
	103

	64
	 
	 
	 
	 
	 
	 
	 
	 

	65
	 
	Therefore company value is:
	 
	 
	 
	 
	 
	 

	66
	 
	 
	 
	 
	 
	 
	 
	 

	67
	 
	Profit valuation
	1,975
	 
	 
	 
	 
	 

	68
	 
	Earnings valuation
	1,546
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2

B - growth as -2.5% Growth 0.975 0.975 0.975 0.975 0.975

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

5 2001 2002 2003 2004 2005 2006

6

7

Sales

1760 =M7*N2 =N7*O2 =O7*P2 =P7*Q2 =Q7*R2

8

9

Previous yr

1100 =M7*0.5 =N7*0.5 =O7*0.5 =P7*0.5 =Q7*0.5

10

50% current

=M7*0.5 =N7*0.5 =O7*0.5 =P7*0.5 =Q7*0.5 =R7*0.5

11

12

Sub-total

=MAX(M9:M10) =MAX(N9:N10) =MAX(O9:O10) =MAX(P9:P10) =MAX(Q9:Q10) =MAX(R9:R10)

13

14

Variable

=M7*0.25 =N7*0.25 =O7*0.25 =P7*0.25 =Q7*0.25 =R7*0.25

15

16

Total

=M12+M14 =N12+N14 =O12+O14 =P12+P14 =Q12+Q14 =R12+R14

17

18

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

19

20

Present value

=M16*M18 =N16*N18 =O16*O18 =P16*P18 =Q16*Q18 =R16*R18

21 =SUM(M20:R20)

22

23

C - growth at 7.5% Growth 1.075 1.075 1.075 1.075 1.075

24

25

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

26 2001 2002 2003 2004 2005 2006

27

28

Sales

1760 =M28*N23 =N28*O23 =O28*P23 =P28*Q23 =Q28*R23

29

30

Previous yr

1100 =M28*0.5 =N28*0.5 =O28*0.5 =P28*0.5 =Q28*0.5

31

50% current

=M28*0.5 =N28*0.5 =O28*0.5 =P28*0.5 =Q28*0.5 =R28*0.5

32

33

Sub-total

=MAX(M30:M31) =MAX(N30:N31) =MAX(O30:O31) =MAX(P30:P31) =MAX(Q30:Q31) =MAX(R30:R31)

34

35

Variable

=M28*0.25 =N28*0.25 =O28*0.25 =P28*0.25 =Q28*0.25 =R28*0.25

36

37

Total

=M33+M35 =N33+N35 =O33+O35 =P33+P35 =Q33+Q35 =R33+R35

38

39

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

40

41

Present value

=M37*M39 =N37*N39 =O37*O39 =P37*P39 =Q37*Q39 =R37*R39

42 =SUM(M41:R41)
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2

Growth 0.075 -0.025 0.05 -0.025 0.05

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5 Yr6

5 2001 2002 2003 2004 2005 2006 2007

6

7

Sales

1760 =C7*D2 =SUM(C7:D7)*E2 =SUM(C7:E7)*F2 =SUM(C7:F7)*G2 =SUM(C7:G7)*H2

8

9

Previous yr

1100

10

50% current

=C7*0.5 =D7*0.5 =E7*0.5 =F7*0.5 =G7*0.5 =H7*0.5

11

12

Sub-total

=MAX(C9:C10) =MAX(D9:D10) =MAX(E9:E10) =MAX(F9:F10) =MAX(G9:G10) =MAX(H9:H10)

13

14

Variable

=C7*0.25 =D7*0.25 =E7*0.25 =F7*0.25 =G7*0.25 =H7*0.25

15

16 Compensation 260

17

18

Total

=SUM(C12:C16) =D12+D14 =E12+E14 =F12+F14 =G12+G14 =H12+H14

19

20 Profit =C7-C18 =D7-D18 =E7-E18 =F7-F18 =G7-G18 =H7-H18

21

22 Tax at 30% =C20*0.3 =D20*0.3 =E20*0.3 =F20*0.3 =G20*0.3 =H20*0.3

23

24 Cash flows =C20 =D20-D22 =E20-E22 =F20-F22 =G20-G22 =H20-H22 =I20-I22

25

26

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593 0.535

27

28

Present value

=C24*C26 =D24*D26 =E24*E26 =F24*F26 =G24*G26 =H24*H26 =I24*I26

29

30 Total =SUM(C28:I28)
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2

Growth 0.05 0.05 0.05 0.05 0.05

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5 Yr 6

5 2001 2002 2003 2004 2005 2006 2007

6

7

Sales

1760 =L7*M2 =SUM(L7:M7)*N2 =SUM(L7:N7)*O2 =SUM(L7:O7)*P2 =SUM(L7:P7)*Q2

8

9

Previous yr

1100

10

50% current

=L7*0.5 =M7*0.5 =N7*0.5 =O7*0.5 =P7*0.5 =Q7*0.5

11

12

Sub-total

=MAX(L9:L10) =MAX(M9:M10) =MAX(N9:N10) =MAX(O9:O10) =MAX(P9:P10) =MAX(Q9:Q10)

13

14

Variable

=L7*0.25 =M7*0.25 =N7*0.25 =O7*0.25 =P7*0.25 =Q7*0.25

15

16 Compensation 260

17

18

Total

=SUM(L12:L16) =M12+M14 =N12+N14 =O12+O14 =P12+P14 =Q12+Q14

19

20 Gross profit =L7-L18 =M7-M18 =N7-N18 =O7-O18 =P7-P18 =Q7-Q18

21

22 Tax at 30% =L20*0.3 =M20*0.3 =N20*0.3 =O20*0.3 =P20*0.3 =Q20*0.3

23

24 Cash flows =L20 =M20-M22 =N20-N22 =O20-O22 =P20-P22 =Q20-Q22 =R20-R22

25

26

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593 0.535

27

28

Present value

=L24*L26 =M24*M26 =N24*N26 =O24*O26 =P24*P26 =Q24*Q26 =R24*R26

29

30 Total =SUM(L28:R28)
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2 Table A

Growth 1.05 1.05 1.05 1.05 1.05

3 All values in £000's

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

5 2001 2002 2003 2004 2005 2006

6

7

Sales

1760 =D7*E2 =E7*F2 =F7*G2 =G7*H2 =H7*I2

8

9

Previous yr

1100 =D7*0.5 =E7*0.5 =F7*0.5 =G7*0.5 =H7*0.5

10

50% current

=D7*0.5 =E7*0.5 =F7*0.5 =G7*0.5 =H7*0.5 =I7*0.5

11

12

Sub-total

=MAX(D9:D10) =MAX(E9:E10) =MAX(F9:F10) =MAX(G9:G10) =MAX(H9:H10) =MAX(I9:I10)

13

14

Variable

=D7*0.25 =E7*0.25 =F7*0.25 =G7*0.25 =H7*0.25 =I7*0.25

15

16

Total

=D12+D14 =E12+E14 =F12+F14 =G12+G14 =H12+H14 =I12+I14

17

18

Gross profit

=D7-D16 =E7-E16 =F7-F16 =G7-G16 =H7-H16 =I7-I16

19

20

Expenses

21 Admin salaries 60 =D21*E2 =E21*F2 =F21*G2 =G21*H2 =H21*I2

22 Directors salaries 50 =D22*E2 =E22*F2 =F22*G2 =G22*H2 =H22*I2

23 Expenses 165 =D23*E2 =E23*F2 =F23*G2 =G23*H2 =H23*I2

24 Interest =D46*0.07 =E46*0.07 =F46*0.07 =G46*0.07 =H46*0.07 =I46*0.07

25

26

Total expenses

=SUM(D21:D25) =SUM(E21:E25) =SUM(F21:F25) =SUM(G21:G25) =SUM(H21:H25) =SUM(I21:I25)

27

28

Profit before tax

=D18-D26 =E18-E26 =F18-F26 =G18-G26 =H18-H26 =I18-I26

29

30

Taxation

=D28*0.3 =E28*0.3 =F28*0.3 =G28*0.3 =H28*0.3 =I28*0.3

31

32

Profits after tax

=D28-D30 =E28-E30 =F28-F30 =G28-G30 =H28-H30 =I28-I30

33

34

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

35

36 Current value of future profits =D32*D34 =E32*E34 =F32*F34 =G32*G34 =H32*H34 =I32*I34

37 =SUM(E36:I36)

38

39

Dividends

120 125 130 135 140 145

40

41

Retained earnings

=D32-D39 =E32-E39 =F32-F39 =G32-G39 =H32-H39 =I32-I39

42

43

44

Balance sheet extract

45

46

Debt

432 =D46-E41 =E46-F41 =F46-G41 =G46-H41 =H46-I41

47

48

Share capital

1000 1000 1000 1000 1000 1000

49

Reserves

564 564 564 564 564 564

50

Total equity

=SUM(D48:D49) =SUM(E48:E49) =SUM(F48:F49) =SUM(G48:G49) =SUM(H48:H49) =SUM(I48:I49)

51

52

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

53

54 Present Value of equity =D50*D52 =E50*E52 =F50*F52 =G50*G52 =H50*H52 =I50*I52

55

56 Debt / equity ratio =D46/D50 =E46/E50 =F46/F50 =G46/G50 =H46/H50 =I46/I50

57

58

59 Earnings =E22+E39 =F22+F39 =G22+G39 =H22+H39 =I22+I39

60

61

Discount @ 11%

0.901 0.812 0.731 0.659 0.593

62

63 Current value =E59*E61 =F59*F61 =G59*G61 =H59*H61 =I59*I61

64

65 Therefore company value is:

66

67 Profit valuation =D54+C37

68 Earnings valuation =SUM(E63:I63)+I54
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2 Table B

Growth 1.05 1.05 1.05 1.05 1.05

3 All values in £000's

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

5 2001 2002 2003 2004 2005 2006

6

7

Sales

1760 =N7*O2 =O7*P2 =P7*Q2 =Q7*R2 =R7*S2

8

9

Previous yr

1100 =N7*0.5 =O7*0.5 =P7*0.5 =Q7*0.5 =R7*0.5

10

50% current

=N7*0.5 =O7*0.5 =P7*0.5 =Q7*0.5 =R7*0.5 =S7*0.5

11

12

Sub-total

=MAX(N9:N10) =MAX(O9:O10) =MAX(P9:P10) =MAX(Q9:Q10) =MAX(R9:R10) =MAX(S9:S10)

13

14

Variable

=N7*0.25 =O7*0.25 =P7*0.25 =Q7*0.25 =R7*0.25 =S7*0.25

15

16

Total

=N12+N14 =O12+O14 =P12+P14 =Q12+Q14 =R12+R14 =S12+S14

17

18

Gross profit

=N7-N16 =O7-O16 =P7-P16 =Q7-Q16 =R7-R16 =S7-S16

19

20

Expenses

21 Admin salaries 60 =N21*O2 =O21*P2 =P21*Q2 =Q21*R2 =R21*S2

22 Directors salaries 50 =N22*O2 =O22*P2 =P22*Q2 =Q22*R2 =R22*S2

23 Expenses 165 =N23*O2 =O23*P2 =P23*Q2 =Q23*R2 =R23*S2

24 Interest =N46*0.07 =O46*0.07 =P46*0.07 =Q46*0.07 =R46*0.07 =S46*0.07

25

26

Total expenses

=SUM(N21:N25) =SUM(O21:O25) =SUM(P21:P25) =SUM(Q21:Q25) =SUM(R21:R25) =SUM(S21:S25)

27

28

Profit before tax

=N18-N26 =O18-O26 =P18-P26 =Q18-Q26 =R18-R26 =S18-S26

29

30

Taxation

=N28*0.3 =O28*0.3 =P28*0.3 =Q28*0.3 =R28*0.3 =S28*0.3

31

32

Profits after tax

=N28-N30 =O28-O30 =P28-P30 =Q28-Q30 =R28-R30 =S28-S30

33

34

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

35

36 Current value of future profits =N32*N34 =O32*O34 =P32*P34 =Q32*Q34 =R32*R34 =S32*S34

37 =SUM(O36:S36)

38

39

Dividends at 14%

120 =O48*0.11 =P48*0.11 =Q48*0.11 =R48*0.11 =S48*0.11

40

41

Retained earnings

=N32-N39 =O32-O39 =P32-P39 =Q32-Q39 =R32-R39 =S32-S39

42

43

44

Balance sheet extract

45

46

Debt

432 =N46-O41 =O46-P41 =P46-Q41 =Q46-R41 =R46-S41

47

48

Share capital

1000 1000 1000 1000 1000 1000

49

Reserves

564 564 564 564 564 564

50

Total equity

=SUM(N48:N49) =SUM(O48:O49) =SUM(P48:P49) =SUM(Q48:Q49) =SUM(R48:R49) =SUM(S48:S49)

51

52

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

53

54 Present Value of equity =N50*N52 =O50*O52 =P50*P52 =Q50*Q52 =R50*R52 =S50*S52

55

56 Debt / equity ratio =N46/N50 =O46/O50 =P46/P50 =Q46/Q50 =R46/R50 =S46/S50

57

58

59 Earnings =O22+O39 =P22+P39 =Q22+Q39 =R22+R39 =S22+S39

60

61

Discount @ 11%

0.901 0.812 0.731 0.659 0.593

62

63 Current value =O59*O61 =P59*P61 =Q59*Q61 =R59*R61 =S59*S61

64

65 Therefore company value is:

66

67 Profit valuation =N54+M37

68 Earnings valuation =SUM(O63:S63)+S54
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2

A - growth at 5% Growth 1.05 1.05 1.05 1.05 1.05

B - growth as -2.5%

Growth 0.975 0.975 0.975 0.975 0.975

3

4

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

5 2001 2002 2003 2004 2005 2006 2001 2002 2003 2004 2005 2006

6

7

Sales

1,760 1,848 1,940 2,037 2,139 2,246

Sales

1,760 1,716 1,673 1,631 1,590 1,551

8

9

Previous yr

1,100 880 924 970 1,019 1,070

Previous yr

1,100 880 858 837 816 795

10

50% current

880 924 970 1,019 1,070 1,123

50% current

880 858 837 816 795 775

11

12

Sub-total

1,100 924 970 1,019 1,070 1,123

Sub-total

1,100 880 858 837 816 795

13

14

Variable

440 462 485 509 535 562

Variable

440 429 418 408 398 388

15

16

Total

1,540 1,386 1,455 1,528 1,604 1,685

Total

1,540 1,309 1,276 1,244 1,213 1,183

17

18

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

19

20

Present value

1540 1,249 1,182 1,117 1,057 999

Present value

1540 1,179 1,036 910 800 701

21 7,144 6,166

22

23

D - unpredictable market Growth 1.075 0.975 1.05 0.975 1.05 C - growth at 7.5% Growth 1.075 1.075 1.075 1.075 1.075

24

25

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

Cash Flow

Yr 0 Yr 1 Yr 2 Yr 3 Yr 4 Yr 5

26 2001 2002 2003 2004 2005 2006 2001 2002 2003 2004 2005 2006

27

28

Sales

1,760 1,892 1,845 1,937 1,889 1,983

Sales

1,760 1,892 2,034 2,186 2,350 2,527

29

30

Previous yr

1,100 880 946 922 968 944

Previous yr

1,100 880 946 1,017 1,093 1,175

31

50% current

880 946 922 968 944 991

50% current

880 946 1,017 1,093 1,175 1,263

32

33

Sub-total

1,100 946 946 968 968 991

Sub-total

1,100 946 1,017 1,093 1,175 1,263

34

35

Variable

440 473 461 484 472 496

Variable

440 473 508 547 588 632

36

37

Total

1,540 1,419 1,407 1,453 1,441 1,487

Total

1,540 1,419 1,525 1,640 1,763 1,895

38

39

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

Discount @ 11%

1 0.901 0.812 0.731 0.659 0.593

40

41

Present value

1540 1,279 1,143 1,062 949 882

Present value

1540 1,279 1,239 1,199 1,162 1,124

42 6,854 7,541


�PAGE \# "'Page: '#'�'"  ��Good. In fact these are two separate assignments.


�PAGE \# "'Page: '#'�'"  ��But this is the equity beta. You needed to find out the asset beta then apply this to Desperanto’s gearing of debt and equity.


�PAGE \# "'Page: '#'�'"  ��I’m afraid this doesn’t really make sense. Beta debt is generally acknowledged to be zero. The formula you were trying to apply was E/(D+E)*beta equity = beta asset. (pp 50-1 of Unit 4) 


�PAGE \# "'Page: '#'�'"  ��Well done for thinking something was a little odd and going with common sense.


�PAGE \# "'Page: '#'�'"  ��Yes, although you are told that the bank overdraft rate is currently 7% and this is better as it is more up to date information.


�PAGE \# "'Page: '#'�'"  ��No! This is the dividend ratio. The return on equity comprises both any dividend payment AND the retained profits. You have already worked out a figure for it – the 11% you decided on above.


�PAGE \# "'Page: '#'�'"  ��If you had used your common sense test again you may well have realised there was something wrong with this as it would be extremely unusual for Rd to be greater than Re.


�PAGE \# "'Page: '#'�'"  ��It would be good to head this up ‘assumption’ as you were asked to add any extra assumptions you needed in answering the question.


�PAGE \# "'Page: '#'�'"  ��I like the adjective!


�PAGE \# "'Page: '#'�'"  ��shareholders


�PAGE \# "'Page: '#'�'"  ��Make sure you are clear about the fact that the 11% was your estimate for Re which you should then have used to work out the WACC.


�PAGE \# "'Page: '#'�'"  ��A good reason because \I suspect you were not all together happy with your lower figure.


�PAGE \# "'Page: '#'�'"  ��Well done for exploring a range of scenarios. However you have just worked out the NPV of the remuneration under the OLD system. You needed to compare the old with the new in order to work out the difference which you should then discount for the NPV. There are also some other omissions in how you have gone about this:


you have ignored inflation. Using Fisher sales should have increased by 1.05*1.02 – 1 = 7.1%, not just by the real rate as WACC is a nominal figure


you have ignored the effect of taxation


You have misread how the old scheme worked. It was not the previous year’s salary, it was the previous year’s guaranteed salary so the 1100 should have been carried forward until the sales exceed 2200. 


�PAGE \# "'Page: '#'�'"  ��But if you’re asked to talk about extra information why not use the ‘information’ word instead of issues. Use the specific words of the question whenever you can to show you are answering what has been asked.


�PAGE \# "'Page: '#'�'"  ��So would this be useful information to have? Why?


�PAGE \# "'Page: '#'�'"  ��So would this be useful information to have? Why?





�PAGE \# "'Page: '#'�'"  ��Yes apart from the guaranteed 1100 point I mention above.


�PAGE \# "'Page: '#'�'"  ��I suspect you found this question difficult from the ‘bewildering’ comment you made early in it. There are quite a few areas that you did not pick up on in your cash flow – tax, inflation, the fact it was the guaranteed figure from last year than carried forward. You also did not evaluate the impact of the new remuneration at all. You also had problems with the beta in the first part. I realise these are all new and complex ideas. Where you seemed to waste marks was in not addressing several of the parts of the question. You comments on assumptions were brief, you did not address the longer time horizon point and you did not tell me the extra information you needed. If you had dealt with these more strategic points adequately you would have achieved a comfortable pass for this question. So whatever problems you are having with the financial bits remember to leave to address the wider, strategic aspects. 


�PAGE \# "'Page: '#'�'"  ��Good, but please remember you do not include interest (or dividend) payments in cash flows as they are what you have used to work out the WACC, so the discount rate automatically allows you to cover them.


�PAGE \# "'Page: '#'�'"  ��You were on the right lines with your dcf and the figure of 399 you got. What you then needed to do was add on some sort of residual value representing the cash flows beyond the time range of your model, rather than saying this was the equity value.


�PAGE \# "'Page: '#'�'"  ��Well done for having a go at this. It doesn’t really give you a significantly different value from the cash flow concept though if you think through the logic.


�PAGE \# "'Page: '#'�'"  ��I’m afraid this is absolutely not what happens. Retained earning are added to the reserves brought forward and so inevitably impact on the overall equity figure.


�PAGE \# "'Page: '#'�'"  ��So this is an example of extra information you would find useful. 


�PAGE \# "'Page: '#'�'"  ��I’m willing to accept this figure because of the previous pattern but really you should have worked out the growth rate from the fourth root of the growth over the last five years – which would give you 4.7% compared with the 4.2% you have got.


�PAGE \# "'Page: '#'�'"  ��No! We do not have a price for Desperanto’s shares as they have never been traded in the market. The figure you have include is the value of the issued share capital. You were using the right formula but again you didn’t realise you had already worked out Re – your 11% or equivalent figure you did for question one. So you should have put that in for Re and used the formula to work out P – which would have given you an estimate for the share price.


�PAGE \# "'Page: '#'�'"  ��And the 4.7% would have been the figure to go in here as well.


�PAGE \# "'Page: '#'�'"  ��I’m afraid you don’t negotiate a separate figure for goodwill. The whole idea of making an offer is that it includes goodwill in whatever way you have felt is appropriate to take it into account.


�PAGE \# "'Page: '#'�'"  ��You could use Gordon’s growth formula to say how much the growth has been over the period in question or at least comment on the earnings per share figures. 


�PAGE \# "'Page: '#'�'"  ��Desperanto is so much smaller than Sunshine that it won’t have an enormous impact on Sunshine’s strategy.


�PAGE \# "'Page: '#'�'"  ��Well done. This is what I meant above. However they do have a policy don’t they? Or it seems they have. 15% every year seems more than just coincidence (


�PAGE \# "'Page: '#'�'"  ��Well done. However the other issue is that the dividends are only about a third of Sunshine’s profit so the share value ought to be going up by about 60k a year all other things being equal. So if you invest in shares you have income and hopefully capital growth. The two together may be more attractive than a return on cash, but of course share prices can also go down.


�PAGE \# "'Page: '#'�'"  ��Evan, your very good section on shares or cash saved the day! You have explored several valuation techniques but again I am afraid you have misunderstood some points. Please work through all the comments I have added to help your understanding. In particular you seem to be confused about some of the core ideas like equity – what return on equity is, what the figures in the balance sheet mean, etc. I really also needed discussion on more techniques, even if you concluded they were not appropriate for Desperanto. Where you lost quite a few marks again was in not telling me what extra information you needed and why.  






